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This qubstibn paper conidids.two parts A,imilB.
Part A is compulsory which carries 20 marks. Answer all questions
Part B consists of 5 Units. Answer any one full question from
Each question carries 8 marks and may have a, b, c as sub questions.

in Part A.
each unit.
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Briefly outline the advantages and limitations of flexible pavements.
Explain the concept of "layer system".
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What are the assumptions in Westergaard's Theory?
Explairi.Eriegy pr"r 
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What are itie design pririciplE involved iri Dciwel bars?

:"'"" """.:.,51.':

3.a)
b)

,-'4,"'.
:'" i' i

Exp1aiq..brig,fly ttre prigclplg
advantriiib$:.$ver the etrdsfifri
pavements.

Poisson's Ratio for concrete
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different types of stresses in rigid pavements and explain
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7. Compute the radius of relative stiffness of 15 cm thick cement concrete slab using
following data:
Modulus of Elasticity of Cement Concrete : 2.1xl0s kg/cmz

0.15
3.s kt4rff
6 kg/cm'.'
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